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QUESTION 1

Which statements are correct regarding indexes? (Choose all that apply.)

A. When a table is dropped, the corresponding indexes are automatically dropped.

B. For each DML operation performed, the corresponding indexes are automatically updated.

C. Indexes should be created on columns that are frequently referenced as part of an expression.

D. A non-deferrable PRIMARY KEY or UNIQUE KEY constraint in a table automatically creates a unique index.

Correct Answer: ABD

QUESTION 2

Which three statements are true? (Choose three.)

A. Only one LONG column can be used per table.

B. ATIMESTAMP data type column stores only time values with fractional seconds.

C. The BLOB data type column is used to store binary data in an operating system file.

D. The minimum column width that can be specified for a varchar2 data type column is one.

E. The value for a CHAR data type column is blank-padded to the maximum defined column width.

Correct Answer: ADE

QUESTION 3

Which statements are true regarding the usage of the WITH clause in complex correlated subqueries? (Choose all that
apply.)

A. It can be used only with the SELECT clause.
B. The WITH clause can hold more than one query.
C. If the query block name and the table name were the same, then the table name would take precedence.

D. The query name in the WITH clause is visible to other query blocks in the WITH clause as well as to the main query
block.

Correct Answer: ABD

QUESTION 4

View the Exhibit and examine the data in the PRODUCT_INFORMATION table. There are some products listed in the
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PRODUCT_INFORMATION table that have no value in the LIST_PRICE column. You issued the following SQL
statement to find out the PRODUCT_NAME for these products:

SELECT product_name, list_price

FROM product_information WHERE list_price = NULL;

PRODUCT_MAME LIST_PRICE
Imbpet CAHG
LaseiFro 12X088W
LasetPro EOOVGEW &
HD 1DG5 4 o &53
HD 1068 R 485

HD 10GE8 /S e,' 43
HD 1058 E5400 (SE ‘ k2
HD 1268 /i o

HD 1268/ 9
HOD 1268 /R "*

HD 126815 h

HD 1268 @720 /SE Ly

HD 18.2GHE &10000 /£ 9

HD 18 25510000 @

HD 8GE /3E Q

HDBGA 15
HD 3 1GE 210000

285

The query returns no rows. What changes would you make in the statement to get the desired result?
A. Change the WHERE clause to WHERE list_price = 0

B. Change the WHERE clause to WHERE list_price = \\'\\',

C. Change the WHERE clause to WHERE list_price IS NULL.

D. In the WHERE clause, enclose NULL within single quotation marks.

E. In the WHERE clause, enclose NULL within double quotation marks.

Correct Answer: C

QUESTION 5
View the Exhibit and examine the data in EMP and DEPT tables.
In the DEPT table, DEPTNO is the PRIMARY KEY.

In the EMP table, EMPNO is the PRIMARY KEY and DEPTNO is the FOREIGN KEY referencing the DEPTNO column
in the DEPT table.

What would be the outcome of the following statements executed in the given sequence?
DROP TABLE emp;

FLASHBACK TABLE emp TO BEFORE DROP;
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INSERT INTO emp VALUES (2.COTT 10);

INSERT INTO emp VALUES (3,ING 55);

DEPT
DEPTHO | DEPTHANME &

10 IT s

20 HE. rd

A
&

EMP X
EMPNO | EN THO

| KINg®| 10

2 HARI a0 @

A. Both the INSERT statements would fail because all constraints are automatically retrieved when the table is flashed
back.

B. Both the INSERT statements would succeed because none of the constraints on the table are automatically retrieved
when the table is flashed back.

C. Only the first INSERT statement would succeed because all the constraints except the primary key constraint are
automatically retrieved after a table is flashed back.

D. Only the second INSERT statement would succeed because all the constraints except referential integrity constraints
that reference other tables are retrieved automatically after the table is flashed back.

Correct Answer: D

QUESTION 6

View the Exhibit and examine the data in the DEPARTMENTS tables.

HR Table DEPARTMENTS Table LOCATIONS
Hams Wulry Type Mame Null? Typa
DEPARTWENT_ID | NOT NULL |NUMBER(A)
DEPARTMENT _NAME] NOT NULL STREET_ADDRESS VARCHARZ(40)
MANAGEF_ID == { POSTAL_CODE WARCHARZ(12)
CITY NOT NULL | VARCHARZ([30}
STATE PROVINCE VARCHARZ(26)
! I b COUNTRY_ID CHARZ]
| Iabie JOB HISTORY | Teble EMBLOVEES \.l/
Name Null? Type Hame Type M
EMFLOYEE_ID NOT NULL | NUMBER(E) = = | EWFLOYEE_ID % | Table COUNTRIES
STAR_DATE NOT NOLL | DATE §—I Name Nuil? Type
END_DATE NOT NULL | DATE OT HULL | VARCHARZIZE) COUNTRY_ID NOT NULL | CHAR(Z)
NOT NULL [VaRCHARZ(25) [~ =~ COUNTRY_NAME VARCHARZ[#0)
DEPARTMENT_ID NUMBER(4) VARCHARZ(Z0 | REGION_ID NUMBER
NOT NULL|oATE \I/
Al NUMBER(S2) '
ﬁﬂ T Tvee EOMMISSON PCT NUMBER(2 3} -
e ey | Tabl= REGIONS
™~ AGER |D NUMBER(E) e NFy
a ) DEPARTMENT_ID HUMEER{4) REGION |0 NOT NULL
WIN_SALARY HUMBER[E) REGION_NANE
WMAX_SALARY NUMBER(S) =

Evaluate the following SQL statement:

Latest 120-047 Dumps | 120-047 Practice Test | 120-047 Study Guide 4/10


https://www.pass4itsure.com/1Z0-047.html
https://www.pass4itsure.com/1Z0-047.html
https://www.pass4itsure.com/1Z0-047.html

VCE & PDF https://www.pass4itsure.com/1Z0-047.html
2021 Latest passditsure 120-047 PDF and VCE dumps Download

PassditSure.com

SELECT department_id "DEPT_ID", department_name , \'b\\' FROM departments WHERE department_id=90 UNION
SELECT department_id, department_name DEPT_NAME, \\'a\\' FROM departments WHERE department_id=10

Which two ORDER BY clauses can be used to sort the output of the above statement? (Choose two.)
A. ORDER BY 3;

B. ORDER BY \\'b\\;

C. ORDER BY DEPT_ID;

D. ORDER BY DEPT NAME;

Correct Answer: AC

QUESTION 7
View the Exhibit and examine the structure of the PRODUCT_INFORMATION and INVENTORIES tables.

You have a requirement from the supplies department to give a list containing PRODUCT _ID, SUPPLIER_ID, and
QUANTITY_ON_HAND for all the products wherein QUANTITY_ON_HAND is less than five.

Which two SQL statements can accomplish the task? (Choose two.)

OE Table CUSTOMERS
Narms & | XV Typs
[ORDER_ID  [NOT NULL - CUST_FIRST_NAME  [noT NuLL] vaRCHARZ(20)
ORDER_DATE PiS) CUST T_MNAME NOT NULL § MARCHARZ {20}
o L WITHLOCALTIMEZONE (1] 55 CUST_ADORESS _TYP
FLFE TWLA L it lal m
LINE_ITER IDJNOT Nut LINUMBERO) v SRR ] NGUAGE ::::":a.l;:[lrwp
HeLE NOT MULL m::ﬁ:n GRDER_BTATOS NUMBER(Z) NLS TERHITORY VARCHARZ[I)
e wpaine OROER_TOTAL NUMBERIS, ) DIT_LIwiT NUMBER[.7)
_REP_ID NUMBERID) CuUs L A RCHARI(30)
\+/ PRGMOTION 1D NUMBER{E) P ACCOUNT_MGR_ID LM 8
- @ CUST_GEOQ_LOCATION MDSY5.500_GEOMETRY
" 'BATE. GF_BIRTH DATE
( WARTAL_STATUR WARCHARZ(20)
: = b — o GENDER VINRCHARZ(1)
[FRODUCT_ID LI NUMBERIE] HCOME_LEWEL VARCHANI[20
FRODUCT_NANE VARCHARIIS0)
PRODUCT_DESCHIPTION VARCHARR(I000)
CATEGORY 1D NUMBER(Z) 1
WEIGHT_CLAGS NUMBER{1)
WARRANTY _PEIOD INTERVALYEAR{Z) }-- PRODUC
TOMONTH
SUPPLIER_ID NUMBERIE) NVARCHARZ{50)
PRODUCT STATUS WARCHARNIO) WA RCHARD{3000)
LI5T_PRICE NUMBER(ST)
WiN_PRICE NUMBER([B.I)
CATALDG_URL VARCHARZ(S0) IW
Namao

<

o L KUMBERLY) b= = NUMBEREY)
[ QUANTITY_ON_HAND | NoT NuLL] NumMBER) [ WAREHOUGE_SPEC
WAREROUSE_NAME
LOCATION_ID
W _GED_LOCATION

A. SELECT product_id, quantity_on_hand , supplier_id FROM product_information NATURAL JOIN inventories AND
quantity_on_hand

B. SELECT i.product_id, i.quantity_on_hand , pi.supplier_id FROM product_information pi JOIN inventories i USING
(product_id) AND quantity_on_hand

C. SELECT i.product_id, i.quantity_on_hand , pi.supplier_id FROM product_information pi JOIN inventories i ON (pi.
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product_id=i. product_id) WHERE quantity_on_hand
D. SELECT i.product_id, i.quantity_on_hand , pi.supplier_id FROM product_information pi JOIN inventories i ON (pi.
product_id=i. product_id) AND quantity_on_hand

Correct Answer: CD

QUESTION 8
View the Exhibit and examine the details of the PRODUCT_INFORMATION table.
Evaluate the following SQL statement:

SELECT TO_CHAR(list_price ,\\'$9,999") FROM product_information;

OE Tatse CUSTOMERS
Harme Thur e
cusTo
CUST_FIRST_NAME _ [NOT NULL | VARCHARZ(20)
T_NAME _ INOT NULL | VARCHARZ(20)
= - Vi THLOC AL TIMEZEHNE. CUST_ADDRESS. TYP
i ORDER_WODE VARCHARZ() - . BERS PHONE_LIST_TYP
e AGE VARCHARZ(3]
s ”°'"“L=:L':“Rmm (ORBESCETATIR NUMBERIZ) RRITORY VANCHARZ(30)
GUANTITY Jrumeerm) O IR 0( zl NUNBER(.Z)
_REP_I NUMBERA{G) 8T _EMAIL A RCHARZ{30]
FRONGTION_T0 NUMBERIE) o |McoWucAiw HUMELE His)
z CUST_GEQ_LOGATION MOSYS.500_GEOMETRY
DATE_OF BIRTH DATE
‘ WARITAL_STATUS VARCHARZI20]

v = 0 TGENDER WARCHARZ(1)
filtad JTLSLTS N N acli T INCOME LEVEL WARCHARZ[2D
PRODUCT_NAME VARCHARZ{S0}

PRODUCT_DESCHIPTION WA LR 0N )
[CATEGORY_ID NUMBER{Z)
WEIGHT_CLASS NUMBER{1}
VIRRHANRTY_PERIOD INTERVALYEAR(Z)]

TOMONTH
SUPPLIER 1D NUMBER)|B) WOT MULL | KVARCHARZ|SE)

PRODUCT_STATUS VARCHARI(I0] NOT NULL| NVARCHARI(2000]

LI5T_PRICE NUMBERS.Z)

MIN_PHICE U TE F{B,T)

oo e s [Tabie VeAHEHOUSES
Numa

FARENOUSE 1D NOT NULLIN
OUANTITY_ON_HAND | NOT NULL

VARCHARNS0) !

WAREHOUSE_BPEC
WARERDUSE_NAME
LOCATION ID

WH_GED_LOCATION

Which two statements would be true regarding the output for this SQL statement? (Choose two.)
A. The LIST_PRICE column having value 1123.90 would be displayed as $1,124.

B. The LIST_PRICE column having value 1123.90 would be displayed as $1,123.

C. The LIST_PRICE column having value 11235.90 would be displayed as $1,123.

D. The LIST_PRICE column having value 11235.90 would be displayed as ######.

Correct Answer: AD

QUESTION 9
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Evaluate the following statements:

CREATE TABLE digits

(id NUMBER(2),

description VARCHAR2(15));

INSERT INTO digits VALUES (1,\VONE);

UPDATE digits SET description =W\ TWOWWHERE id=1;
INSERT INTO digits VALUES (2 .\\'TWO\);

COMMIT;

DELETE FROM digits;

SELECT description FROM digits

VERSIONS BETWEEN TIMESTAMP MINVALUE AND MAXVALUE;
What would be the outcome of the above query?

A. It would not display any values.

B. It would display the value TWO once.

C. It would display the value TWO twice.

D. It would display the values ONE, TWO, and TWO.

Correct Answer: C

QUESTION 10

View the Exhibit and examine the data in EMP and DEPT tables.

DEPT
DEFTNO | DEPTHANME &

10 IT ¢~

- &

9

ENP X
EWEPNO | ENAME JEEPTND

! f:ug;@;;;«} 10

2 HAR 20 %ﬁ

In the DEPT table, DEPTNO is the PRIMARY KEY.

In the EMP table, EMPNO is the PRIMARY KEY and DEPTNO is the FOREIGN KEY referencing the DEPTNO column
in the DEPT table.
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What would be the outcome of the following statements executed in the given sequence?
DROP TABLE emp;

FLASHBACK TABLE emp TO BEFORE DROP;

INSERT INTO emp VALUES (2,COTT 10);

INSERT INTO emp VALUES (3,ING 55);

A. Both the INSERT statements would fail because all constraints are automatically retrieved when the table is flashed
back.

B. Both the INSERT statements would succeed because none of the constraints on the table are automatically retrieved
when the table is flashed back.

C. Only the first INSERT statement would succeed because all the constraints except the primary key constraint are
automatically retrieved after a table is flashed back.

D. Only the second INSERT statement would succeed because all the constraints except referential integrity constraints
that reference other tables are retrieved automatically after the table is flashed back.

Correct Answer: D

QUESTION 11

View the Exhibit and examine the details of the EMPLOYEES table.

Evaluate the following SQL statements:

Statement 1:

SELECT employee_id, last_name, job_id, manager_id FROM employees

START WITH employee_id = 101 CONNECT BY PRIOR employee_id = manager_id AND manager_id !'=108 ;
Statement 2: SELECT employee_id, last_name, job_id, manager_id FROM employees WHERE manager_id !'= 108
START WITH employee_id = 101 CONNECT BY PRIOR employee_id = manager_id,;

Which two statements are true regarding the above SQL statements? (Choose two.)

A. Statement 2 would not execute because the WHERE clause condition is not allowed in a statement that has the
START WITH clause.

B. The output for statement 1 would display the employee with MANAGER_ID 108 and all the employees below him or
her in the hierarchy.

C. The output of statement 1 would neither display the employee with MANAGER_ID 108 nor any employee below him
or her in the hierarchy.

D. The output for statement 2 would not display the employee with MANAGER_ID 108 but it would display all the
employees below him or her in the hierarchy.

Correct Answer: CD
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QUESTION 12
View the Exhibit and examine the description of the ORDER_ITEMS and PRODUCT_INFORMATION tables.

The ORDER_ITEM table has records pertaining to details for each product in an order. The PRODUCT_INFORMATION
table has records for all the products available for ordering.

Evaluate the following SOL statement:
SELECT oi.order_id, pi.product_id
FROM orderjtems oi RIGHT OUTER JOIN product_information pi ON (oi. product_id=pi. Product_id);

Which statement is true regarding the output of this SOL statement?

Tabsle CUSTOME RS
Narme ETeee————e
CUSTOMER_ID ggﬁii WUMBERE]
CUET_FIRST_ MAME MR Rl § ) WA ARSI R
TUST T_NAWE  [NOT NULL | VARCHARZ(20)
CUST ADDRESS TYP
HEAS PHONE_LIST_TYP
UAGE WARCHARZ(I)
_TERMTORY WARCHARZ(30)
DIT_LIMIT WUMBERM.Z)
ERLAIL WARCHARZ3)
ACCOUNT_MOR_ID LN EBE )
AIST_GE0 L OCATION WOSEYS S0 GECMETHY
TE_OF _BIRTH DATE
MARITAL_STATUS WARCHARZ(20)
[GEMDER VARCHARZ()
INCOME_LEVEL VARCHAR (20
PRODULC1_DESCRPTION VARC HARZ{2000)
CATEGORY_j0 NUMBER(Z) |
WEIGHT_LCLASS NUMBER(1)
VIRRIANTT_PERIOD INTERVALYEARIZ] JLL | WUMEE R
TOMOKTH VARCHARZ(Z) |
BUPPLIER_ID MUMBER(B) HUARCHARISD)
PRODUCT_STATUS VARCHAREZ0} NVARCHARZ{2000)
LI57_PHRICE NUMBERIB.Z)
MIN_PHICE NUNBER(E I}
CATALDG_URL

“RCH&RIIWIQ

WAREHOUSE_NAME

LOCATION I NUMBERL) _ o
WH_GEO_LOCATION o 7

A. The query would return the ORDER_ID and PRODUCT_ID for only those products that are ordered.

B. The query would return the ORDER_ID and PRODUCT_ID for the products that are ordered as well as for the
products that have never been ordered.

C. The query would return the ORDER_ID and PRODUCT_ID for the products that are ordered but not listed in the
PRODUCT_INFORMATION table.

D. The query would return the ORDER_ID and PRODUCT_ID for those products that are ordered as well as for the
products that have never been ordered, and for the products that are not listed in the PRODUCT INFORMATION table.

Correct Answer: B
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